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Syllabus for B.VVoc Travel & Tourism Mgt. Entrance Exam 2021

Instructions:

1. The duration of the Entrance exam will be 1.5 hours to be held online in objectives
(MCQ)format

2. The entrance exam will have questions on five different sections (Class X-XII level)

3. The syllabus and format will be as follows-

Section Syllabus Number of Marks
guestions to
beattempted

English General English, understanding and 30 questions 35 marks

Section 1A Grammar Usage 20 questions 10 marks
(0.5 marks each)

Section 1B Comprehension 1 question 7 marks
withthree parts

Section 1C Communication 9 questions 18 marks

intelligence/Etiquettes (2 marks each)
Section 2 General Awareness(basic geography, 20 questions 20 marks

environment, heritage and economics, (1 mark each)
science up to Class X Level)

Section 3 Data Interpretation, Quantitative and 10 questions 20 marks
Logical Reasoning (2 marks each)
(Pie charts, Bar diagrams, table based
analysis, Average, Logical Sequence
of Words,reasoning, logical deduction)

Section 4 Digital Skills(Computer 10 questions 15 marks
applications) (1.5 marks)
Section 5 Values and Ethics 5 questions 10 marks

(2 marks each)

Total 5 Sections 75 questions 100 marks
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Entrance Exam Sample Paper for B.VVoc Travel & Tourism Mgt.

» Section 1A : English grammar and Language skills:
1.1 have never gone to Japan. | know__people there.

A few

B a few
C many

D most of
Ans: A

2.Divya___since she arrived.

A talks
B talking
C is talking

D has been talking.
Ans: D

3.Indirect of - Gandhiji said, “Truth is god”.

A Gandhiji said that truth was god

B Gandhiji said that truth wins at the end
C Gandbhiji said that truth is god

D According to Gandbhiji, truth is god
Ans: C

4. “No, not now.” — The question must be
A What are you doing now?
B Where are you going now?
C May | call you?
D How are you?
Ans: C

5.1 had to walk 5 km yesterday as | had__rupees for fare.

A few
B a few
C little
D a little
Ans: A



6. Early to bed and early to rise___a man healthy, wealthy and wise.
A make

B makes

C shall make

D made

Ans: B

7.No, | don’t have the details___(ready at hand immediately available), but you can
look itup the internet.

A in my shoes

B behind the scenes
C at my door steps
D at my fingertips
Ans: D

8. to the White Rann of Kutch?

A Have you ever been
B Are you ever

C Have you ever

D Did you ever have
Ans: A

9. Pick up a suitable word from the options which can replace: CAUTIOUSLY
A Genuinely

B Carefully

C Secretly

D Somewhat
Ans: B

10. Which one of the following sentences is the correct one?
A She is both a dancer or a poetess.

B She is both a dancer nor a poetess.

C She is both a dancer and a poetess.

D She is both a dancer as well as a poetess

Ans: C



SECTION 1B
COMPREHENSION PASSAGE

All along a 450-mile stretch of west coast America is the home of the tallest trees in the world.
Once, in this narrow hinterland of the Pacific Coast, from central California to southern Oregon,
were two million acres of these trees, the Coast Redwood. Today there are just a few hundred
acres of them in Redwood Belt’s scattering of State Parks, protected forest reserves amidst
which are stands of the giants.

About 25 miles due south of San Jose and the heart of Silicon Valley is one of the smaller of
these stands, just 40 acres in the midst of the 4650—acre Henry Cowell Redwoods State Park.
And there | found myself one morning not so long ago peering up to spot the tops of trees that
seemed to be touching the skies. All I got was a crick in the neck. A tip for other Escapists’:
Stick to looking at the thick and rough-barked trunks.

But even looking at a trunk when you try to grab a view of The Giant’s trunk from close can
be quite a challenge. The Giant, the star of the Park, has a trunk with a circumference of over
50 feet and a diameter of 17 feet. Maybe you can, but | couldn’t take it all in. Nor could I come
anywhere near taking in the whole 275 feet of the Giant’s height. Once the tallest Redwood, it
lost its title when a storm several years ago knocked down 75 feet of its top to bring it to its
present height. But it’ll need the mother of all storms for its record of being the oldest tree in
the park — an estimated 2000—plus years old — to be knocked down.

You wonder at such a giant growing from a tiny seed; 100,000 seeds to a pound will giveyou
an idea of how tiny! You wonder too about the marvel of a root system that sinks only six to
twelve feet holding up such giants till the range you are talking to explain that the roots spread
laterally and intertwine with the roots of other Redwoods to create a carpet.

Attempt the following questions on the basis of the passage you have read:
(@) The Redwood forests are protected because of...................ccevene .

(i) they are very old

(i1) they deserve the status of National Parks
(iii) they are worth a visit

(iv) all of the above

Answer: (iv)

(b) The Giant’s height oncewas ....................cc.eee :

(1) 265 feet

(i) 250 feet
(i) 275 feet
(iv) 270 feet
Answer: (ii)

(c) Find the word from the passage which means the same as “to be filled with wonder”. (para 4)
Answer: marvel



SECTION 1C
Communication intelligence /Etiquettes

1. Once you are in someone’s personal office, you can create a level of rapport by:
A Asking them questions about their specific job function for their company.
B Tell them about your specific job function within your company.
C Make comments about the building, facility or some aspect of their
office .D Talk about personal life
Ans: C
2. If you walk into the office of a person you do not know, do you offer to shake theirhand?
A Yes. It’s important to be a gracious guest when entering someone’s
office.B No. You enter their office slowly (with a pleasant expression on
your face)and wait for them to offer to shake your hand; only then do you
extend your hand for a handshake.
C You introduce yourself first, and then you initiate a handshake with
them.D You do not need to shake hands
Ans: B
3. You’re attending a conference and you’d like to have the card of a senior executiveyou

meet. How do you get it?

A You offer them your card and ask them for theirs.

B You tell them you need their card so you can remember their name.

C You create an opportunity and establish rapport with them and develop a specific reason for them
to ask you for your card in hope that they will offeryou theirs.

D You take help of a colleague to get their card

Ans: C



SECTION 2 - 20 MARKS
General Awareness
(History, Heritage, Geography, Environment, Economics, Current Affairs)
1. Which of the following statement is true about Ajanta caves?

A Ajanta caves were excavated between the 2nd century and 6th century.

B They depict the story of Jainism

C Ajanta caves are excavated in an elephant shoe-shaped rock surface.

D The caves are believed to be made in 2 distinct periods: Gupta period and Vakataka
period

Ans: A
2. Which of the following statement is not true about Ajanta caves?

A Ajanta caves were tagged as the UNESCO World Heritage Sites in 1983.

B Currently, these caves are taken care of by the Archeological Survey of India

C The general style of paintings at The Ajanta caves seems to have influenced paintings in
Tibet and Sri Lanka

D Ajanta caves were excavated between the 12th century and 16th centuries.

Ans: D
3.Where are Ellora caves situated?

A Madhya Pradesh
B Maharashtra

C Andhra Pradesh
D Rajasthan

Ans: B

4.Which of the following statement is not true about Sanchi Stupa?

A It is situated at Sanchi in Raisen district of Madhya Pradesh.

B It is situated in Aurangabad district of Maharashtra

C Sanchi tagged as the World Heritage site by UNESCO in 1989.

D Stupa at Sanchi is the oldest stone composition in India and was originally commissioned
by the emperor Bindusara

Ans: D

5.Who among the following foreign travellers came to India during the
reign ofChandragupta 11?

A Hiuen-Tsang
B Fa Hein

C Megasthenes
D Ibn Batuta

Ans: B



6.The best specimens of Mauryan art are represented by their___

A Temples
B Seals

C Pillars

D Tools
Ans: Pillars

1. To which king from early India does the legacy of the Lion capital at Sarnath belong to?
A Chandragupta

B Ashoka

C Kanishka
D Harsha
Ans B

8. The Venetian traveler who travelled with his wife and reached Vijayanagar around
1420was?
A AthanasiusNikitin

B Nicolo de Conti
C Ibn Batuta
D Ferishta

Ans: B

9. The pass located at the southern end of the Nilgiri Hills in south India is called

A the Palghat gap

B the Bhorghat pass
C the Thalgat pass
D

the Bolan pass
Ans: A
10. The Yarlung Zangbo river, in India, is known as

A Ganga
Indus

B
C Brahmaputra
D Mahanadi

Ans: C



11. The only state in India that produces saffron is

A Assam
B Himachal Pradesh

C Jammu and Kashmir

D Meghalaya

Ans: C

12. The oldest rocks in India are reported from

A Dharwar region, Karnataka

B Aravalli range, Rajasthan

C Vindhyan range, Madhya Pradesh
D

Siwalik range, Punjab
Ans: A

13. Which of the following is not a biotic element?
A Birds

B Sunlight

C Forests

D Animals

Ans: B

14. Which of the following is a renewable resource?

A Fish

B Coal

C Petroleum
D Iron-ore
Ans: A

15. Which of the following is an impact of global warming?

A Deforestation

B Rise in sea level

C Waste generation

D Rapid increase in population
Ans: B



16. In which of the following layers of the atmosphere is o0zone shield found?
A Troposphere

B Exosphere

C Stratosphere

D Mesosphere

Ans:C

17. Which of the following is a consequence of ozone layer depletion?

A Skin cancer in humans

B Lower production of phytoplankton
C Hampers growth of terrestrial plants
D All of the above

Ans: D

18. When was the Central Pollution Control Board (CPCB) set up?
A 1964
B 1974
C 1984
D 1994

Ans: B

19. Which of the following is the modern concept of development?
A Economic development

B Economic growth

C Sustainable development

D Human development

Ans: C

20. Which of the following is a conventional source of energy?
A Sun

B Wind

C Dried dung

D Tides

Ans: C



SECTION 3- 20 MARKS
Data Interpretation and Logical Reasoning

1. Here are some words translated from an artificial language.
I. moolokarn means blue sky

I1. wilkospadi means bicycle race

I1l. moolowilko means blue bicycle

Which word could mean *“racecar"'?

A wilkozwet

B spadiwilko

C moolobreil

D spadivolo

Ans: D

2. Here are some words translated from an artificial language.
I. agnoscrenia means poisonous spider

I1. delanocrenia means poisonous snake

[11. agnosdeery means brown spider

Which word could mean "black widow spider™?

A deeryclostagnos

B agnosdelano

C agnosvitriblunin

D trymuttiagnos

Ans: Ans C
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3. Study the Pie-Chart and answer the following question

1997

a) If there were 5,000 D type employees in 1998, what would have been its

approximatepercentage in the company?
A8

B 12
C14
D10
Ans: D

mA
mB
mC
uD
HE

2%

1998

A
B
mC
mD
mE



Candidates who have successfully completed
Candidates enrolled = 2500 the course = 1900

a)Which institute has the highest percentage of students successful to enrolled?
AD

BE

CA

DB

Ans: A

5. The following pie-chart shows the percentage distribution of the expenditure incurred in
publishing a book. Study the pie-chart and the answer the questions based on it.

Promotion Cos!

10% Transportation

: Cost

Printing Cost 10%
20%

Binding
20%

Paper Cost
25%

a)lf for a certain quantity of books, the publisher has to pay Rs. 30,600 as printing cost,then what
will be amount of royalty to be paid for these books?

Rs. 19,450
Rs. 21,200
Rs. 22,950
Rs. 26,150
Ans: C

OO w>



6.CUP: LIP::BIRD:?

A. GRASS

B. FOREST

C. BEAK

D. BUSH

Answer: C. BEAK. You drink out of a cup with your lips. Similarly, birds bite grass with their beaks.

7. Paw : Cat :: Hoof : ?

A. Lamb

B. Horse

C. Elephant

D. Tiger

Answer: B. Horse. Cat’s feet are called paws and horse’s are called hoofs.

8. Statements: In a one-day cricket match, the total runs made by a team were 200. Out of
these 160runs were made by spinners.

Conclusions:

80% of the team consists of spinners.

The opening batsmen were spinners.

A. Only conclusion | follows
B. Only conclusion Il follows
C. Either I or Il follows

D. Neither I nor Il follows

E. Both Il and Il follow
Ans: Option D

9. Yard is to inch as quart is to
A gallon

B ounce

C milk

D liquid

Ans: B

10 Careful is to cautious as boastful is to
A arrogant
B humble
C joyful
D suspicious
Ans: A



11. In a certain code language ‘RISE’ is written as ‘8419°, and ‘MEAL’ is written as ‘5927°.
Howis ‘RAIL written in that code ?

A 8429

B 8124

C 8247

D 8412

E 2948

Ans: C

12. Study the bar chart and data here and answer the following _
450

400
350
300 -
230 B Middle income category

200 R B Upper middle income category
150 B High income category

100

0

o - —

Maorth South East West

Number of households

Average household

Growth in average

in 1987-68 income in 1987-88 household
(in thousands) income(1994-95 over
1987-88)
Middle income 40 RS. 30,000 50%
Upper middle income 10 RS. 50.000 60%
High income 5 RS. 75,000 90%

a) Which region showed the highest growth in number of households in all the income

categories forthe period?

A. North

B. South

C. West

D. None of these
Ans: B

Explanation: It can be seen from the graph that the southern region showed the highest growth in

number of household in all the income categories for the period.

b) What was the total household income in northern region for upper-middle class?

A. Rs. 50 lakh
B. Rs. 500 million
C. Rs. 300 million

D. Cannot be determined

Ans: D

Explanation: We only know the total number of households for all four regions combined. No where
have they given the region-wise break-up of this value. In the light of this, the given question cannot
be answered.



13. Prakash walked 30 metres towards West, took a left turn and walked 20 metres. He
again took a left tum and walked 30 metres. He then took a right turn and stopped.
Towards which direction was he facingwhen he stopped ?

A South

B North

C East

D West

Ans: A
SECTION 4 - 15 MARKS

Digital Skills

1. Which device is required for the Internet connection?

A Joystick

B Modem

C CD Drive

D NIC Card

Ans: B

2. Which of the following is a part of the Central Processing Unit?
A Printer

B Key board

C Mouse

D Arithmetic & Logic unit

Ans: D

. Physical structure of computeris called______
A Software

B Hardware

C Human ware

D All of these

Ans:B

. What is the most common tool used to restrict access to a computer system?
A User logins

B Passwords

C Computer keys

D Access-control software
Ans: B



5. The common name for the crime of stealing passwords is:
A Jacking
B Identity theft
C Spoofing
D Hacking
Ans: C

SECTION 5 - 10 MARKS

Values and Ethics

1 Ethical skills are:

A Care of possession, posture, self-reliance

B Good behaviour, manners, good relationship and good environment
C Attention, calmness, concentration, self esteem

C Code of conduct, responsibility, efficiency, perseverance, punctuality

Ans: D

2 What does perseverance mean?

A Having or showing intelligence especially of higher value

B Doing something despite difficulty or delay in achieving success
C The state of showing no real interest

D Not supporting any of the sides involved in argument

Ans: B

3. How does the individual come to be able to make moral decisions?

1) By understanding his motives

2) By understanding the consequences of his actions

3) By being deterred and frightened of the penalties incurred on him for his action
4) By understanding the means adopted to execute action

Al2and3

B1,3and4

Cl23and4
D1,2and 4

Ans: D



4. Which of the following statements are true about ‘Morale’

1) It is a form of ‘attitude’

2) It is reflected in positive feelings about the work group

3) It instills confidence that difficult goals can be achieved easily

4) It is the knowledge of the distinction between right and wrong action

Al2and3
B 1,2,3and4
C2and3
D2,3and 4
Ans: A

5. The moral principles, standards of behaviour, or set of values that guide a person’s
actions inthe workplace is called-
A Office place ethics
B factory place ethics
C behavioural ethics
D work place ethics
Ans: D
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